IP65 Die-Cast

2]
Aluminium Enclosures multicomp

Product Information:

* Material : Aluminium Alloy
* Finish : Natural Aluminium.

» Designed to meet IP65 through the use of neoprene gasket with the universal tongue and groove seal system.

» Wall Mounting holes and lid fixing screws are outside the ceiling area for railing protection

Diagrams:
Part Number : MC001123 / MC001129 / MC001135
55.50mm [2.185in] )
55.50mm [2.185i i
48.60mm [1.913in] FOUR(4) M3X12mm — .m] 4mm [0.157in]
FLAT HEAD SCREWS 45.49mm [1.791in] 1.50mm [0.059in]
45mm [1.772in] )
! 45mm[1.772in]
34.60mm[1.362in] _ | .
B | 3‘1.50mm[1.240\n‘]_
@
02260 SH—
T O T c
A A " 't
B
- ERErErE Jgad B
SEEE S583
S 4 = 4 RIS SECTION C-C
S e i R R SCALE1:1
€l g g€
45mm[1.772in] 2 3 <2+ o ol | =
S o ¥ o i o ¥
:
£
€
o
3
8
g g
8 8 2
. — = [=]
55.50mm [2.185in] =i e o -
| El £ £ 3 <
o g ] 3 o &
S 5 3| ~ S o
o « N — !
= gl €
4 = gg T
gl g = o
gl g
a5
48.60mm [1.913in] )
4.80mm[0.189in]
SECTION A-A
SCALE1:1 SECTION B-B

SCALE1:1

www.element14.com

@
f Il.
multicomp

Page <1>

13/05/16 V1.0



IP65 Die-Cast

Aluminium Enclosures

o
multicom

Part Number : MC001124 / MC001130 / MC001136

79.60mm [3.134in

[ ]
72.30mm [2.846in] FOUR (4] M4X20 79.60mm|[3.134in
68mm [2.677in] mm 69.59mm|[2.740in]
FLAT HEAD SCREWS i
47.21mm [1.859in] 68mm|[2.677in] 12mm[0.472‘ml
15mm[0.591in] 44.29mm [1.744in 1.80mm [0.071in]
24mm [0.945in]
! - N
A * [N AT I -
J = -
g; = g9 3 EEEE =
¢ < 'gg g g EEEE
%, LEEER: 29485
% B ISPV N I Rl R
24mm [0.945in] Q 2 28 ¢ B B EEEE
£l £ g E ElEEE
15mm [0.591in] S 59 3 g HEEE
3 NEN EIRNININ L
o
D t B
68mm [2.677in] SECTION B-B
SCALE4:5
<
3
N
o
g]
£
3
o
<
4
5
3
=
s
=
£l T
g & 79.60mm|[3.134in]
- 9
€
4 £ =
el g AT /EER
o = ] 5
v o) —] o|
g g 4 o
g § =
p 9 §
M g
4.76mm [0.187in] | 5mm [0.197in]
SECTION A-A 72.30mm|[2.846in]
SCALE4:5

Part Number : MC001125 / MC001131 / MC001137

102.50mm [4.035in]

102.50mm [4.035in]
96.14mm [3.785in] ELOAL}RI—(I‘E)AAS%gg?an 92.89mm [3.657in]
- 91.40mm [3.598in] X
91.40mm [3.598in] 4mm [0.157in]
2.1 4rmen [3.234in) 78.89mm [3.106in] :
‘ .14mm in e 1.75mm[0.069in]
| ﬂ i 5
) o —
$3.20mm [0.126in] <l ol 4? § & £
g ef 848353 333 3
2 IS [s] d 2l |
B 3 N s B IS
9 = = g g g g
g 84mm|[3.307in] £| € El £ g £
g £ S| o & g
§ 5 3 o I
i | o I3 T B
TR o
" + = >
C
91.40mm][3.596in] 91.40mm [3.598in] ‘ SECTION &-C
.40mm [3.598in
g
N 3|
= &
S gl
3 g
-~ £
£ —
£
S
S
N SECTION B-B
-&
4 4 o
3¢ . FE
9.9 K= 5 3 g
2 ¢ €| ! 2~
£ & £ 3 ElE
3 9 = 102.50mm [4.035in] & &
— —| I3
2 & 3
2

81.80mm [3.220in]
SECTION A-A

www.element14.com
www.farnell.com
www.newark.com

o
multicom

Page <2> 13/05/16 V1.0



IP65 Die-Cast o
Aluminium Enclosures multicomp

Part Number : MC001126 / MC001132 / MC001138

175mm [6.890in] l75mm[[6.890in]] [ !
: 164.40mm | 6.472in 20mm [0.787in
167.83mm[6.607!n] FOUR(4)M4X32 mm T 63mm]6.417in]
163mm [6.417in] FLAT HEAD SCREWS 146.40mm [5.764in]
149.77mm|[5.896in] - - 1.80mm [0.071in]
=z
o —
20,
0./9
s
% pu —
- )
156mm [6.142in] | ""dd g c EEEE
Iy g 3 5598 SECTION C-C
@ o @ — N oI N —
— ™~ AN ) . — N Nl ™
= O A 163mm [6.417in] R B
€l € € g € E|l g €
RN S
[ ] K ©| 9 D g S % &
163 6.417i g N [ — /NN
mm in ‘ 3 N % e% - Q 3
8§
S g
£ £
g §E
- ™| 9
b \ jﬂa
- £
— - —| S -
L,E, B = (% 5 4.80mm [0.189i o §
5 8 ) 3 2 g ®
2 3 S S|~ SECTION B-B g o
g € €| gl € 175mm| 6.890in] g €
bE £ &8 3 &
SIS & RS
émml[0.236in] || \ 167.65mm ][ 6.600in] ‘
SECTION A-A
Part Number : MC001127 / MC001133 / MC001139
200mm [7.874in]
192.13mm [[7 56A\'n]] 200mm [7.874in] 20mm [0.787in]
188mm [ 7.402in 3 .
e ezl FOUR(4) M4X32 mm 189.20mm [7.449in] 1.80mm[0.071in] | _|
FLAT HEAD SCREWS 188mm [7.402in]
174.48mm [6.869in] 171.20mm [6.740in]
s 138mm [5.433in] 2mm [0.866in ] c
< by Bz
Tl T —
4235, == ]
y%?? o EFEEEE EERE
SRS o B o § & § S|l ol & &
s R EER KRN
9|9 R R B R A ??%%
g € £l g g E
A £ - R
sls & 29 g g8 RERE
N o = —1
+) > Gl & 77
¢ c
5 i - SECTION C-C
ol £ 188mm [7.402in]
5 & 3
=l 9 3
188mm [7.402in] p=lS =
| ElE £
£
£l E g
©1 2 @
+ + | E
| =
H + %
2 sl
) + €
g E LI A
+ ;
— 4.80mm[0.189in] ||
5. + + SECTION B-B
S
E 200mm [7.874in]
3 E —
8 \ REE
9 @[ &
£ oS
A ML gl2
! MM =
SECTION A-A

www.element14.com @
f Il.
multicomp

Page <3> 13/05/16 V1.0



IP65 Die-Cast

Aluminium Enclosures

mult?comp

Part Number : MC001128 / MC001134 / MC001140

260mm [10.236in]

249.94mm [9.840in]

240mm([9.449in]
238mm([9.370in]

215.59mm|[8.488in]

38mm [1.496in]

Y

(3 462\7‘]_

|
©3.20mm[0.126in] X6PCS @

o

&

A* 0 230mm([9.055in]

=
>

e

38mm|[1.496in
ERaC R

240mm [9.449in]

260mm [10.236in]

20mm [0.787in]

240mm[9.449in]

[ [
FOUR () M4x32 mrm 248;:;”':‘:[[2'133‘:]] z.somnlEsz;s[x?n?ss‘n] {?
213.17mm[8.393in] 1 |
EEEE 012680 ;; ggé i
EEEE s EEEEER =
E EE: g E E 14.87mm [0.586in] E § § E E (é = <4
*m H - o9
gl g
f=— SECTION C-C g £
C SCALE1:3 Bl
260mm [10.236in] w
_ RS S, W
. : i 3 é by é 4.80mm[0.189in
L EIE %%% SECTION B-B
i é g é é SCALE1:3
SECTION A-A N9 E
SCALE1:3
Part Number Table
External Dimension
Description Colour LxWxH Part Number
(mm)
55.5 x 41 x 31 MC001123
79.6 x 74.6 x 52 MC001124
102.5 x 52,5 x 25,5 MC001125
Natural
175 x 80 x 60 MC001126
200 x 120 x 75 MC001127
260 x 160 x 90.5 MC001128
55.5 x 41 x 31 MCO001129
79.6 x 74.6 x 52 MC001130
IP65 Die-Cast Aluminium Black 102.5 x 52.5 x 25.5 MC001131
ac
Enclosures 175 x 80 x 60 MC001132
200 x 120 x 75 MC001133
260 x 160 x 90.5 MC001134
55.5 x 41 x 31 MC001135
79.6 x 74.6 x 52 MC001136
102.5 x 52.5 x 25.5 MCO001137
Grey
175 x 80 x 60 MC001138
200 x 120 x 75 MC001139
260 x 160 x 90.5 MCO001140

Important Notice : This data sheet and its contents (the “Information”) belong to the members of the Premier Farnell group of companies (the “Group”) or are licensed to it. No licence is granted
for the use of it other than for information purposes in connection with the products to which it relates. No licence of any intellectual property rights is granted. The Information is subject to change
without notice and replaces all data sheets previously supplied. The Information supplied is believed to be accurate but the Group assumes no responsibility for its accuracy or completeness, any
error in or omission from it or for any use made of it. Users of this data sheet should check for themselves the Information and the suitability of the products for their purpose and not make any
assumptions based on information included or omitted. Liability for loss or damage resulting from any reliance on the Information or use of it (including liability resulting from negligence or where the
Group was aware of the possibility of such loss or damage arising) is excluded. This will not operate to limit or restrict the Group’s liability for death or personal injury resulting from its negligence.

Multicomp is the registered trademark of the Group. © Premier Farnell plc 2012.

www.element14.com

www.farnell.com
www.newark.com

Page <4>

mult?comp

13/05/16 V1.0



